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6.An increase in Honda car production in the Taiwan will increase
Taiwan's GNP but have no effect on Japanese GDP, [98z KB H ]
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1.8teph buys a designer dress produced by an American-owned fashion
shop in France. As a result, U.S. consumption increases, U.S. net exports
(Adecrease, U.S. GDP is unaffected, but U.S. GNP increases. (Bde-
crease, U.S. GDP increases, but U.S. GNP is unaffected. (C)decrease,
U.S. GNP increases, but French GDP is unaffected. (Dare unaffected,
U.S. GDP is unaffected, but French GDP increases. [988 KBt 4 ]
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NI = &} million U.8.$; PDIl= @ million U.S5.%; Personal
Saving= _®  million U.S.$.
©Ratio of Dependence on Foreign Trade (BREKEFE) =_ 6 %.
[iakate - B
D500 + &350 $450 0 @225 &-T5
GDP=C+]+G+X -M=300+50+125+350--325=500
N =1-D=50-15=35
NDP=GDP - D =500-15=485
NI = NDP - RS = 485 - 35 = 450
PI= NI - B5ifii -7 + 45T
= 450 — (75+ 50+ 45) + 25 =305
PDI = PT — #5574 = 305 — 80 = 225
PDI=C+ 5~ §=225-300=-75
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350+325
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E e e FO0% = T T 5 100% = 135%
BRI = = IR x100% = 72 x100% =135%
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=C+S+T+R, (Friglisrem)
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3.The uses-of-saving identity says that an economy’s private saving is



